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Exercises

How numerate are you? Try this numbers quiz.
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Name the first four odd numbers. '
Name the first four even numbers, '

Name the first four prime numbers.

Give an example of a decimal fracrion.

Give an example of a vulgar fraction.

How do you read this formula and what does it represent: e=me??”

How do you read this and what does it represent: 2mr?

- Write the following in words radher than in figures or symbols. .

2% of the British population owned 90% of the country’s wealth iﬁ 1992.
0°C=32°F .
62.3% of adults have false tccth ' SPHERE . cu BE

B4 Yx 42= 14% =4 e
2,769,425 peqp_le live here. PYRAMILD " SPIR KL

" Read the followmg records aloud.

Oxygen accounts for 46.6% of the earth’s crust.

The nearest star to earth is Proxima Centaurt. tcis 33,923,310,000,000 km from earth.
The highest waterfall in the world is Angel Falls in Venezuela with a drop of 979 m.

The top coffee-drinking country in the world is Finland whuc 1,892 cups per annum are

‘consumed per head of the population.

The tallest church in the world is the Chicago Mcth()dlsr Tcmplc whuh is 173 mor 568§ fr
high. :

The commonest item of lost property on L ondon tmnspott is the umbrella. 23,250
umbrellas were handed in to London transport lost property offices in 1987/8.

The country with the most telephones in the world is Monaco. It has 733 rdcphonu per
1,000 population.

The smallest country in the world is the Vatican City with an area of 0.4 sq km.

Draw the following figures.

A right-angled tiangle with two equal sides of about two centimetres in length. Draw a
small circle at the centre of the triangle and then draw lines from the centre of the circle to
each of the angles of the triangle.

A rectangle with diagonal lines joining opposite angles.

An octagon with equal sides. Draw an oval in the middle of the ocragon.

A three-dimensional rectangular shape of ronghly 6 em by 3 cm by 2 cm.
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= \DDITION AND SUBTRACTION

. Numbers
Our system of numbers is composed of the 10 digits 1, 2, 3, 4, 5, 6, 7, 8,
9, and 0. All numbers consist of combinations of these digits. Arith-

metic consists of the relations of numbers and the methods of comput-
ing with numbers.

In every number each digit has a certain place value, and the posi-
tion of a digit in a number gives the digit its value. From right to
left these values are units, tens, hundreds, thousands, ten thousands,
and so on. For example, in the four-digit number 9,547, the digit 7
has a value of 7 units, the 4 is in the tens place and has a value of 4
tens (40 units), the 5 is in the hundreds place with a value of 5 hun-
dreds (500 units), and the 9 in the thousands place has a value of 9
thousands (9,000 units).

An absiract number is one that has no reference to any quantity or
object. For example, the number 16, when used by itself, is an ab-
stract number. In general, you will be concerned with abstract num-
bers only when dealing with basic mathematical principles and: pro-
cedures.

Technicians and engineers are more concerned with concrete num-
bers. A concrele number is one that is connected with a particular
quantity or object and therefore consists of two parts. The first part
is a number which tells us how much, the second part specifies the unit
of measurement or object and tells us what. For example, 60 cycles,
25 ohms, 10 microfarads, and 30 henrys are concrete numbers. In
Chap. 11 you will study some interesting methods of dealing with
concrete numbers as applied to units and dimensions relating to
electricity and electronics.

Addition

In general, concrete numbers should be added only when they are
related to the same kind of untts or things. For example, it would not
make sense to add 47 ohms and 2 horsepower. However, this rule
cannot be followed blindly because it would be sensible to add 40
resistors and 35 capacitors to obtain 75 parts, or objects. Here, we
would be adding parts, or things. — o -

The word “plus” indicates addition and is denoted by +. The
equality sign = means “isequalto.”” Thus, in the language of mathe-
matics 6 + 8 = 14. In English this says that 6 plus 8 is equal to 14.
The quantity, or number, obtained by adding two or more numbers is
known as the sum of those numbers. Therefore, as indicated above,
the sum of 6 and 8 is 14.
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COMMON FRACTIONS

Definitions

A common fraclion, as distinguished {rom a decimal fraction (Chap. 5),
is an indicated division of two whole numbers and expresses one or
more of the equal parts into which a thing is divided. Tor example,

.5 . . . ..
the common fraction ¢ has two meanings, either that 5 is to be divided

by 6 or that something has been divided into 5§ of 6 equal parts.

The number above the line of a fraction, the dividend, is called the
numeralor of the fraction. The number below the line, the divisor, is
called the denominator of the fraction. Note that the numerator

states how many of the equal paris that are contained in the denomina-
tor. Thus,

numerator how many parts

R

A fraction = denominator  number of equal parts
A fraction in which the numerator is less than the denominator is
~ called a proper fraction. 13, 2%, and 1313 are proper fractions.

An improper fraction is one containing a numerator equal-to or
greater than the denominator. %4, 94, 34, and 94 are improper frac- *
t10ns.

fundamental properties of fractions

When working with fractions, it is necessary to make {requent use of
the following important principles.

1 The numerator and the denominator of a fraction can be multi-
plied by the same number, except zero, without changing the value
of the fraction,

2 The numerator and the denominator of a fraction can be divided
by the same number, except zero, without changing the value of the
fraction.

EXAMPLE 1

oo 2 12+3 4 12
EXAMPLE T15+3 5 15

—
w
—

It will be noted that no new principles are involved in performing
these operations, because multiplying or dividing both numerator and
denominator by the same number, except zero, is the same as multi-
plying or dividing the fraction by 1.
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- 20.

DIF?EBKH?IALS

For a syaten havins one 1ndependent property which we shall danote by x,
let P denote a dependant property,
o " P = F (z)

and AP denote the c):mnge of P in a o):mnge of state from.a stata
According to Taylor's theorem, we may express

’

0;
AHP in the form

: 2
AP =—-——1 (-—-—-—-—dp )AI*—“-—- ( dP)AIZ*oopo‘ (
11\ ax 21\ ax®
where (4P / dx), (d“P / dx°), ... are the derivatives of P with respect to x

1)
evaluated at state O , and A x the change of x in the change of state under
consideration. '

Equation ( 1) may be written in the. form

AP = (_SE:.)£3 x+R , ( 2)
dx
where R 18 a quantity for which

1im ( R ) = 0.
ax —0 Ax

¢ 3)
As in the differentisl calculus, we shall denote the quantity
(dP / dax) Ax by 4P and will call it the differential of P

. Thus

P = (.di) AX . ( 4)

dx .

This expression defines the differential of a dependent property. Differshtials
may be used in algebraic relations only if the relation applies for all values
of A x. For example the relation
d¢F = 0
implies

() .

Similarly, the relationship

d¥F = 4k

between the differentials of dependent properties N and M implies

() - ()

dx
whereas the relationship

an
implies

H]
L~
&
~—
N

()0 - (2

(b))
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For, (8) oan be written es
ag : au 2
('”‘éx)anx(mdx) (am
thioh“a velid for all values of Az only ifr (b) is true. It follows that a
) re;a‘;ianahip betweea differentials of dependent properties is merely a
repreeentstion of e relationship betwsen derivestives.

!’ha change Ax of ths 1ndeyen&ent varisble x during any cha.nga of state
18 nlao called the dirferantial of X end is dsnoted by dx . Hence

(5)

dx)dx.

The above definit'i‘.-chaf‘;‘c’:'an be gemeral:lzed to systems of meny independent
variables. Accor&inglﬁ the differential 4P of a property of & system having
independent prapextiea Ty Xy eecep Ep is defined by the ralationship

| dP: (3321) &z +<§1§ ) dza... ""+(-5Qx_z-)xi d:xn

whsré_ (6)

ax, = Ax,, x, = A%y, ...., &2, = Ax

spd (P /a x.) xi 48 the partial derivative of P with respect to xk ,
holding all other independant properties x; (1 # x) constant.

Bow to reed . ths main mathematical syebols and signs :

; ‘meines] - plu.s ‘nabo- nnms
o infinity [in"finiti] ,. infinite [ infinit.( - nekone&‘.no, nekoneény

a.x a timea x [ ‘ei “taims ‘qke] .- & krdt x
{a nmlgiplj,ed by x [ 'ei ‘maltiplaid bai eka] - a néaobeno x
ax ['el ‘eks] - ax

aix a divided by ¥ [‘ei:di’veidid bei- eka] - & déleno x
{a over x [.efsouvey. eks] - & lomend x:

equale [ i.bvalz] , 18 equal to [1i= ’ .kuaA. te] ~ rovné g8, jJe rovoo

8:b=x:y & i= to b a8 x i8 to.y [ ‘ei iz to bi: 2% eks,izta ‘wai] -~ & wé se
: kubjakoxméae)my )

idgntically equal to [ai ‘dentikoli ‘i:kwol to] - identicky rovny, to-
“tozay

i

£ doea not equs.l' L’ du ‘not i: kwal] - nerovad se

= + g approxima' ' 'qugl t.o ['iz o proksimitli “i: Kol t'a] -~ je p¥ibliZnd
FFOVRO T '

> greater than greita Jan] -~ v3t3{ ne¥

< leszsa- t_l’;an 8 dan] - men31{ ne¥

>3 -a.n;-_" L ‘not greita dan] - nent vétﬁi nei

> ' e-qnal to L greita don ar ‘i: kwpl te] - vétﬁi neZ nebo

§ ren@iai.z] " round brackets [ ‘raund braekits] -

(153
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kulaté sdvorky

154

~ brazaté sévorky:

L3 brackets , sguere brackets [ ‘skweo ‘breskits]
{1} braces [ ‘breisiz] - slciené sévorky
(... brackets opened ['braekits ‘oupend] ~ sévorky, oteviit sévorka
.e) brackets closed [ ‘broekite ‘klousd] - sévorky, sévorka se savie
T s tilde . [‘e4 “tilds] ~ a & vlnovkou
a* astar [‘ei ‘sta:] -ae hvévsdiékon
‘a a bar [‘e4 ‘ba:] =~ a 8 prubem
by a doubls bar [ ‘ei “dabl ‘ba:] ~ a 8 dvima pruhy
a’ a dash [‘ei 'dse!] - a 8 %4rkon
a, a subseript n [ ‘o1 sabskript en] , 8 8ub n [‘e1 ‘sed ‘en]
a 8 indexem n ,),
84 a sub one [‘ei ‘sab ‘wan] - a Jodna
8, a sub two [‘ei ‘sab “tu:] - a dvd
|ay absolute value of a [ Zsbaglu:t ‘y eelju ov 'ei] - absolutni hodnota
: za
n! n factorial .[‘en feek ‘te:risl] - n faktoridl
- tends to [“tends ta], approaches [9 ‘proudis] - b1{i{ se
= implies [im’plaiz] - implikuje o S
A capital & [ ‘koepitl ‘ei] - velké &, 4
@reek alphabet [ ‘gri:k 2elfsbet]
- A o [ %1£3] alfa
B A [di:ste] beta
rr [‘geema]. gama
Ad  [“delts] ~ delta -
E ¢ [“epsilsn, ep aailen) epsilon.
Z E  [’zi:te] dzeta
H n [ ‘4:t9] ota’ ’
@ 14 [‘ei:ta, ‘Geital theta
I « [ ai’euta] iota
K a« [ keeps)]  ¥apa
A A ["1zemds] lambda
M M [‘mju: ] “m1
Ny [‘ngu:] - ny
T £ ['ksai, “zai] ks1
0 o [ “eumikren,eu ‘maikron] omikron
T [‘pail i
P ¢ [‘reul re
Fe [ “sigma) sigma
Tt ['to. tau
Yv [ 33?11,]’331558“” ] seetion.
¢ 9 [“a1] £1
Xx [ ‘xai) chi -
Yy  [pesi] psi
L ow ['pumiga] omega


Narg
Textový rámeček
05


Methematical operstions !

"Addition [a7difen ] - s¥iténi

to add [ %d] - sdftat
plus [ ‘plas - plus

5+7 =12

a+bd=c¢

five plus seven zquals twelve
8

makes
are
is equal to

a plus b equals ¢

Subtraction [ssd “troek¥on ] -~ odedIténi

to subtract [sob treekt] - odedftat
mims [ ‘mainoss’] - minus
9 -3 = nine minus thres egquals six

a-b=c¢

a minus b eguals c¢

Multiplication [ ,maltipli‘keiSien] - nésobent

to multiply

[‘maltiplai ] - nésobit

x, . mltiplied by, times - na.sobeno, krét

1x‘

2x
3x
5x3 =

ab = ¢.

once [wansJ

twice [ “twais]

three times (etc.)

five times three is fifteen

. & (times) b equals ¢

Division [ di‘vi¥en] - d&lent
to divide [di‘veid ] - d3xit

: divided by
6:2=3

a:b=e¢

six divided by two is three
a divided by b equals ¢

7

Raising to the power ‘retzin ta do 'pau'a] -~ mocnéni
n 2

to raise to the power of [ta ‘reiz te do ’‘pausr av] - umocnit na
power [‘paus] - mocnina

exponent [eks pgunent] - exponent, moonins

superscript [’sjuiposkript] =~ vde, co se pi¥e u ¢isla nahote, opakem je
subscript [ ‘sabskript ] - v3e, co se pife u disla dole - index
52 five squared [ ‘skwead ]

8’ a cuved [ “kju:bad ]

a™l a to -the minus three

(a + b)2 a plus b all squared

12 + yz x squared plus y squared

(a + b)3 a plus b all cubed

DalBf mocniny se tvo¥{ : to + ¥len + Fadovd &islovka :

a? a to the fourth -

a® a to the nth

an+1 a to the n plus one

(a™ a to'the mth all to the nth

155
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1+x oneplus x to the fifth

(a + )" a plus b sil to the mimus ons
ot a to the minus one

a™? & to the minus n

31/} a to the onad third

a1/3 a to the mimns ome third
31/1 a to the one over x

52/ 3 a to the two thirds

Extraction of the rpot [iks troekZen sv ¢ ‘ruit] - odmochovéns

to extract the./nth/ root /out/ of [1ks’trsekt] - odmosdovat
index, en.¥. indices [ ‘indeks ; ‘indisi:s] ~ odmocnitel
- root [ ‘ruit] =~ kofen ' .

Ve the squars root of a [ ‘skwed]

Va the cube [ ‘kju:d) root of &, a to the one third

Dal¥#f odmocniny se tvoifi : urfity Slem + Fadovd Eislovka + root of

{“/-: the fourth root of a

LYY the nth rcot of a, a to the one over n

Va the xth root of a, a to the ona over x
/e the minus cube root of a, Jastdji: a to the minus ome third

Fractions [ “froek¥onz] ~ szlomky

a) vulgar fractions [‘valga “froeek¥onz] - obecné slomky
numerator [ ‘mju:mereits] -~ Sitatel
denominator [ di ‘nomineita)- jmenovatel
fraction line [ ‘froek¥en ‘lain]) - slomkové Séra

1/2 a hal?, [ ‘ha:f], one half
1/3 one third
1/4 ons quarter, ome fourth

Dald{ zlomky se tvo¥i tak, Ze v ditateli *je vidy zdkladn{ &islovka, ve jme-
novateli Fadovd. Je-1i &itatel v&tEi neX 1, je jmenovatel v mnoiném &isls,
tj. na konci je -8. Ja-1li jmenovatel sékonden na jednidku, Eteme jej jako
zékladnl ¢fslovku. U mepravych -‘qlomkﬁ Steme plsmena jako v abecedd a
"lomeno" jako "over” [ suvo]. A

3/2 three halves [ ha:vs |

2/5 two fifths [“fifes ]

4/10 four tenths Coe
a/b a over b :
5/21 five over twenty-one

b) decimal fractions [ ‘desimsl ‘froekXens] - desetinné slomky
Misto desetinné ¥4rky bivé telka (decimel point [ “desimsl ‘peint] )
Kula pfed desetinnou telkou se Zasto nepifie a nedte. Mista za desetinnom
tedkou s8e &tou jednotlivé, pred desetinmou telkou jako celek.

4] nought [ :no:t ]
) L,eu ]
Zero [ ziereu)

1 0.1 point one, nought point ome

156
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.01 point nought one
.00t point double nought one
.32t point three twc ons

2.1 two point one

12.5 . twaelve point five

_‘_;Analysis ['kealkjules H e'neelisizj - matematickd analyza

Functions [ ‘fank¥onz] - funkce

f{x) ; x), etc. function of x, function x, fx - funkce x
y*=f(x) y is equal to the function of x, y is equal to the function

X, y is equal to £ of x - y rovnéd se funkci x
Differentiation [,diforendi eifien] - deriwovénl

to differentiate [,dife ‘renEieito ] - derivovat
x to derive [di’raiv] - odvosovat

dy ' differential y [difs ‘ren¥el] - diferemciél y
dy a varistion in y [,veori 'eiésnj - variace y
Ay an increment of ¥ ['inkrinant] - piiristek y

by ; AR vl e(x) ; B, v the (first) derivative [adi ‘rivotiv] of y
dx dx with respect to x, where y = f(x) - prvnd
derivace y dle x, kde ¥ = f(x)
£(x) ' the (first) derivetive of f at x ~ prval de-

o
rivace f(x) dle x v bods: x,
the nth derivative of y = £f(x) with respect

- ) - -t

a°y ; y(n); f(n)(x) ; DI; v to x - n-td derivece y podle x

ax® d to thenthybydxtothenth(eg—-%—
d squared y by dx squared ; N,B. is
pronounced mach longer than in dx above)

-ia)-!x-}— buyg fx(x,y) 3 D lu) the partial derivative [ ‘pa:51 ai’rivotiv]

of u = f(x,y) with respect te x - parcidlng
derivace u dle X

partial du by partial dx

£y (xo, ¥ the first partial derivative of f(x, y) with
: respect to x at (xo, ¥o) = prval parcidlni
derivace f{x, y) podle x v bod¥ x5, ¥,

fI‘ (vxly)

P! 2u the second partial derivative of u = ox, 3),
YEFIEE i Uyy § fxy(x,y) i teken first with respect to x and then with
Dy (Du) respect to y - druhd parcidlni derivace

u =f{x,y) podlex a y
partial 4 squared u by partial dy dx

Integration [,inti ‘greifon] - integrovéni

to integrate [ “intigreit] - integrovat
integrand [ ‘intigront] - integrand
integral [ “intigrol) - integrél
b .
f the integral of .... frem a to b - integrédl .. od & do b

a
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double integral -~ dvejny integrdl

/  the integral of f{x) with respect to x ~ integrdl £/x - dx
rtx) dx a

i

tga (gef%nite) integral of f(x) from a to be - integré.l f(x) ax
od a do

.- {/"
-

Limits [ ‘limits] - limity

lim
—

1imit - limita , o
tends [ ‘tendz] to, approaches [5proudis] - blii{i se

lim f{x) = b the limit of f(x) where x tends to a is equal to D

xX—a limita £/x - pro x bli%fcf se a rovnd se b
lin [f(x) + g(x)] =8 + ¢ the limit of f{x) plus g(x) a8 x tends to a is.

xX-—a equal to 8 plus t

Trigonometry [ ,trigs ‘momitri] - trigomometrie

b)

c)

a)

. e)

£

g)

sin x ["sain “eks ] : . - 8in x
sine x [ ‘sain ‘eks] ‘
cos x ["kos ‘eks ], . - cos X
cosine x [ ksusein eka] ,
tan x [“t sen “eks] : - tg x
tangent x [“toend¥ont ‘eks ]
‘ecot xj;ctn x - ["xot ‘exs ] ~ ctg=x
cotangent x [ “kou’t sendZont aks] '
sec x .gecant x [ ‘si: kant__ek_s] -  Bee'X
¢sC xj;co88c X cosecant X ['kau_'si:];snt‘- ‘aks ] - cosec X
"Exercises
1. Réad :
@) 2+5=;10+8=;25+15=;78+7=;49+9=;99+1=;

120 +37 = ; 31+ 37 5 ja+b, -xt 1, xvy, 1ty

19~7=323=-9=;91-18=; 11-3=;20-10=; 150 - 100 = ;
1050 - 85 = ; 5,000 - 3,000 = ; a <.x ;;’x -1, 8 =D

y 3.8=, 7.7=, 4.12,=, 13~10 , 6.9=, 8 =¢c, xy=z', 2ab

5.5

9:3 s 231 =, 2137 =, 27:9 =, 3535
a:b = x, X:Z2 =y

, 100:10 = , 48:12 =, 75:15 = ,

2/3, - 4/7, 1/2, 3/4, 1/10, 5/100, 341000, 6/21, 4/3, 5/2

a/b, v2/c, oL/y, T/2, 1/x, 1/2, 1/ Vx, ctdlo~d
0.1; .1 ; .002 ; 0.003 ; .2334*; 5.1 ; 7.99 ; 10.5 ; 100.25 ;

22, 2}, 52, 5'2, a}, a"j (x? *yz) =3, a® *bz (a fb)‘j (a +1b)"

“a"a®, a™.a® = amﬂl 1/a2 = a”2, 8®/a® = a2, (™" = amn (a/b)mzam/bm

h)

Ve N L e sV

oy e VA e A

V=, Ya, Y=, "r e, ¥z, nm..,“r
" e (VB = a®, YW i/a =1/ =
n\/-a——,
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2. Read the following signrs : 10

O;+;-;*;eb;eadb;xiymab;=;=;#;~;=;a>b;b<la;
. . *» -~l *'—.’o*“- ’n ”u . - »

a }’b 1 Y 4:5 i()i[liaje;a;a;a 18 ;8 ;8,3 X ;7Y

I‘al;n!;——s;——:*;x;a;f;f/;w

3. Read the following letters of Greek alphabet, giving their Czdchnames :

°¢a/~” f,l; UJ',A,J"I)/IY) /‘05)/1?17,571%1’{’1
a f f 1y Uy 0y 2o T, 0

4., Pay attention to stress :

difference, different, to differentiate, differentiation, differential
add, addition, additional

subtract, subtrection

multiply, multiplication

divide, division

integrate, integral, integratién

5. Translate into Csech :

a) equation, expreassion, formmla, theorem, theory, quantity, monstant,

~ value, property, relation, varieble, to define, definition

b) accordingly, hence, thence, whence o ' .

¢) let us assume that ... ; let a - b ; let P denote..... ; let Equation 1
denote ... ; according to Eq.2, let a = b ; :

d) the equation is valid for ... ; (b) is true, if ..... ; Eq.5 holds
for ... ; the relation applies for all values of ... H )

e) Eq.1 may be expressed a8 ... ; we can express BEq.l a8 ... ; Eq.3 ﬁay be

" written in the ferm .... ; P can be written as ... ; the following

- aquation may be put as .... '

_(_'x{‘._::T:i'a;hslate into English :

;_rovnice, s&itén1, odéiténi nédsobent, déleni, vysledak, mocnéni mocnina,
'ndex, 9dmocniovéat, ko¥en, zlomek, v ¥itateli, ve jmenovateli, lomeno,

T ce; matematické analyjza, derivovéni, derivovat, odvodit, diferencil,

ntegrél 1ntegrovéni, s&{tat, od#ftat, nésobeno 5, d¥leno 5, umocmit na -
'ruhou, unocnit na tfeti moonit, derivovat, integrovat, odnoonovat

o rfd*s{:

above - [ebav] . - ' vy¥e uvedeny, vyde
according to [ o 'ko:dinte] podle

accordingly  [%'ko:dinli] podobnd, podle toho
algebraic [, seldfi ‘breiik] . algebraicky

to apply  [2'plailSTHING TO STHING pouiit, aplikovat,
as [ %%, 93] jako, stejnd jako
to be true [ ‘bi: “tru:] . platit (v mst.)
to be velid [’bi: ‘veslid] platit ( -« )
calculus [ Xselkjulos] podet

change [ “%eindf ] gm¥na

change of state [ ‘$sindiaov ‘steit ] zmépa stava

159


Narg
Textový rámeček
10


conaideration [ ken,side ‘reilon]
definition [ ,defi ni¥en]

to denotei[di ‘nout ]

dependent [ai‘pendont]
derivative (n.) [di rivetiv]
differential [,difs ‘ren¥el)
differential.calculus[ difs ‘ren¥sl

ré

k selkjulss

equation [1i‘kweiZon]

to evaluats [1i’woeljueit)
expression ( iks ‘prelan )
to follow [ “folou ) (FRoH)

for [£2:] , [£2]

to generalize [ ‘d¥enarslais]

nence [ hens ] ‘
to hold; held, held [ “heuld; ‘held )
to 1mply [im’plai]

in the form [inds ‘fo:m] OF
independent (of) [,indi ‘pendent]

independent variable [,indifpendant]
' ) veorisbl

lot [ 1let] ,
‘merely [ mioli ]
partial [‘pa:dal]

paftidl derivative [ pa:¥sl di’rivotiv)

property [ ‘propsti]
quantity [ xwontiti]
relation [ri‘lei%¥on] (between)

relationship [ri leiBondip]
representation [,reprizen teifon]
respesct [ ris pext ]
similarly (to) [’simileli]
state [’steit]
theorem [ Gisrom ]
thus [ "das ]
~true [ “tru:]

under consideration [ ‘ands kon,sido ‘rei¥en)

[ ‘voelid ]
[ ‘“veoriobl )

valid ( for)
variable (n.)
whera [ wo:)
whereas [ weor 22z ]

with respect to [wid ris ‘pekt ta]
[“dens] - '

[ “wens ]

thence -
whence

160

dvaha, zfatel
definice

oznadit

sdvisly

derivace
diferencidl
diferencidlni podet

11

rovnice
vypoditat -
vyraz

plynout (2), ndsledovat ( za) ,s8ledo-
vat

nebot

sevieobecnit

odtud plyne, s &ehoZ

ponechévat, drZet, platit (o sékomu)
zahrnovat, implikovat, plynout ( z)
ve tvaru

negzédvisly

nezdvislé promdnné

necht, budi¥

pouse

psréiélni
parciélhi derivace
vlastnost
mnoZstvi, veliéina
vztah (mezi)

vstah

vyjddfent

ohled

ﬁodobné, obdobné

.stav
" poudka, teorem
~. tak, 3 toho, tedy

pravdivy, v&rng, pravy
. uvafovany

platnfy (pro)

proménnd

kde o
kdeétolglﬁ1'

odtamtud plyne, tudiZ
odkud plyne, tudi%f¥ .
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Funny mathematics
Try to read the following lines :
1. This poem was written by Jon Saxton, author of many maths texbooks.

A dozen, a gross , and a score

Plus three times the square root of four
All divided by seven,

Plus five times eleven,

Equals nine squared and not a bit more.

Or : for those who have trouble with the poem :

(12+144+20+(3x /4 )):7+(5x11)=92

2 . This is a limerick ( = a humorous poem with 5 lines ) attributed to H.L.Carter. It was taken
over from ,,The Lure of the Limerick* by W.S.Baring-Gould.

"Tis a favourite project of mine
A new value of 7 to assign.
I would fix it at 3
For it’s simpler, you see,
Than 3 point 14159

3. And another limerick. It was picked off the net some time ago. It looks better on
paper.

Integral z squared dz

From 1 to the cube root of 3
Times the cosine

Of 3 m over 9

Equals log of the cube root of e.

?zzdz. cos(%) ~nYe)

1

Read the following numbers :

25; 19; 9; 2,279; 103; 1,000,000; 14; 40; 104; 138; 500; 44,005; 2,004; 836; 1,017,
6,000; 82,985; 10,000,000; 200,000; 15; 50; 629; 2,102; 12;17; 70, 708; 7,008; 1,825;
1,901; 348; 990; 3,000; 8,000,000; 1,621; 3,508; 3,528; 3,500; 180; 18; 6,213; 963;
2,000,000,000; 1,526;
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